® 12400 Earl Jones Way
Louisville, KY 40299
u o ® H LF rev-a-shelf.com
Customer Service: 800-626-1126

Innovation through Organization”
INSTALLATION INSTRUCTIONS

ADJUSTABLE EXTRACTABLE FRAME

FEATURES

Aluminum pull out frame with soft closing slides.

PARTS

A. Frame

B. Slide Kit

C. Rubber Gasket

D. Slide Cover Kit

E. 4x16 mm Self-Tapping Screws
F. 4x20 mm Self-Tapping Screws

MAINTENANCE

Clean with a soft, dry cloth. Avoid using solvents or abrasive.

MIN 250mm

XMIN XMAX
500mm 775mm

800mm 1075mm
* >
OQ,A?&‘“
A

INSTALLATION INSTRUCTIONS: ADJUSTABLE EXTRACTABLE FRAME I-5E100-0225



PARTS: (B) Slide kit (E) 4x16 mm Self-tapping screws (F) 4x20 mm Self-tapping screws

Place Slides (B) into cabinet and Locate the position of where you would like it to be mounted.
Screw the slides to the side of the cabinet using Part (E) & (F).

X Y
it O 00 000 000 W
=] =}
£
£
o
wn
N
£
o o o o o
X Y
16 20 16 20
64 mm | 42mm | 152 mm | 215 mm
PARTS: (D) Slide Cover Kit
Pre-Drill Locations and Slide Cover Kit in place and screw in the guide cover as shown.
PRE-DRILL PRE-DRILL
cood oo 000 00 '
00 | =
16 =] [ —]
PRE-DRILL PRE-DRILL
0000 %o 000 00 080 000 | .
(2]
20C =




PARTS: (A) Frame
Place the Frame on a surface and rotate it upside down.
Unscrew the screws of the locking supports, adjust the Frame to size and retighten the screws.

Follow the chart below to calculate the measurement for your Frame.

Y

ool i iR

Measurements are to the outside of slides.

X
FRAME SIZE:
X=Y-29mm

INSTALLATION INSTRUCTIONS: ADJUSTABLE EXTRACTABLE FRAME



until you hear a click.

PARTS: (A) Frame
Slide the frame onto the mount and engage with the back bracket clips as shown. Press the front of the frame down of the slides

PARTS: (C) Rubber gasket
Cut the gaskets (C) to size. Remove backing from adhesive strip and fit gasket into metal frame and pushing down firmly to adhere.

12400 Earl Jones Way

° Py Louisville, KY 40299
rev-a-shelf.com
Customer Service: 800-626-1126

Innovation through Organization




® 12400 Earl Jones Way
Louisville, KY 40299
u o ® H LF rev-a-shelf.com
Customer Service: 800-626-1126

Innovation through Organization”

INSTRUCCIONES DE INSTALACION / LES INSTRUCTIONS D’INSTALLTION

MARCO EXTRAIBLE AJUSTABLE /

CADRE AMOVIBLE AJUSTABLE

CARACTERISTICAS / CARACTERISTICAS

Marco extraible de aluminio con guias de cierre suave.

Cadre amovible en aluminium avec glissiéres a fermeture amortie.

PARTES / PIECES

A. Marco / Cadre

B. Kit de guias / Trousse de glissiéres

C. Juntade goma / Joint en caoutchouc

D. Kit de cubiertas de guias / Trousse de couvercles de glissiéres

E. Tornillos autorroscantes de 4x16 mm / Vis autotaraudeuses de 4 x 16 mm
F. Tornillos autorroscantes de 4x20 mm / Vis autotaraudeuses de 4 x 20 mm

MIN 250mm

MANTENIMIENTO / ENTRETIEN

Limpie con un pano suave y seco. Evite el uso de disolventes o abrasivos.
Nettoyez 'appareil a I'aide d’'un chiffon doux et sec. Evitez les solvants ou les
produits abrasifs.

XMAX

775mm
1075mm

I-5E1 OO-OZ?



PIEZAS: (B) Kit de guias (E) Tornillos autorroscantes 4x16 mm (F) Tornillos autorroscantes 4x20 mm

Coloque las guias (B) en el gabinete y ubique la posicion en la que desea montarlas. Atornille las guias al lateral del gabinete usando las piezas (E) y (F).

PIECES : (B) Trousse de glissieres (E) Vis autotaraudeuses de 4 x 16 mm (F) Vis autotaraudeuses de 4 x 20 mm

Placez les glissiéres (B) dans 'armoire et déterminez la position d'installation souhaitée. Vissez les vis sur les catés de 'armoire & I'aide des piéces (E) et (F).

X Y
° o 00 000 boo 1
]
=] =]
€
13
S
D
o~
£
=
o Qo o o (¢}
X Y
16 20 16 20
64 mm | 42mm [ 152 mm | 215 mm

PIEZAS: (D) Kit de cubiertas de guia

Pretaladre las ubicaciones y el kit de cubiertas de guia en su lugar y atornille la cubierta de guia como se muestra.

PIECES : (D) Trousse de couvercles de glissieres

Prépercez les points déterminés et fixez en place la trousse de couvercles de glissiéres. Vissez le couvercle principal, comme indiqué.

PRE-DRILL PRE-DRILL

v i
cood oo 000 00 ‘ .

163 [ =]

PRE-DRILL PRE-DRILL
0000 %o 000 00 080 000 | .
[==]
20C =|




los tornillos.Consulte la siguiente tabla para calcular la medida de su marco.

PARTES: (A) Marco
Coloque el marco sobre una superficie y girelo boca abajo.Desatornille los tornillos de los soportes de bloqueo, ajuste el marco a su medida y vuelva a apretar

PIECES : (A) Cadre

Déposez le cadre sur une surface et tournez-le a I'envers. Dévissez les vis des supports de verrouillage, ajustez le cadre a la dimension souhaitée et vissez de

nouveau les vis. Suivez le tableau ci-dessous pour calculer les mesures du cadre.

Las medidas son hasta el exterior de los deslizadores.

Les mesures sont prises a 'extérieur des glissiéres.

FRAME SIZE:
X=Y-29mm

Aseglrese de que la distancia entre los soportes de bloqueo sea igual.
Assurez-vous que la distance entre les supports de verrouillage est la méme.




PIEZAS: (A) Marco
Deslice el marco sobre el soporte y enganchelo con los ganchos del soporte trasero como se muestra. Presione la parte delantera del marco

hacia abajo de las guias hasta que escuche un clic.

PIECES : (A) Cadre
Glissez le cadre sur 'élément de montage et insérez-le sur les supports a clips arriére, comme indiqué. Exercez une pression vers le bas sur

I'avant du cadre jusqu’a ce que vous entendiez un clic.

PIEZAS: (C) Junta de goma
Corte las juntas (C) a la medida. Retire el respaldo de la tira adhesiva y coloque la junta en el marco de metal, presionando firmemente para que se adhiera.

PIECES : (C) Joint en caoutchouc
Coupez les joints (C) selon les bonnes dimensions. Retirez le protecteur de 'adhésif et insérez le joint sur le cadre en métal. Appuyez fermement vers le bas

pour assurer I'adhésion.

@ 12400 Earl Jones Way
REV-ASHEWF =
rev-a-shelf.com
Customer Service: 800-626-1126

Innovation through Organization




